CON5(50pin)

. 3.3v ICL,2 ' MAXIN ' MAX3471EUA
CONL(40pin) 3T ‘oooooooooooooooooooo‘ —————— A .
) = ) vee 00000000000000000000 CONL,2 | | LFCN40S-C1185
D1 =1 D1 vee —38 o Fee - TR,
D2 = 2 D2 CE2# CON3,4 ' JST ' JEY-9P-1A3A
D3 = D3 2 A P b
D4 = 2 D4 oN CONs 1 JST | ICH-NA2H-SS52-N11B
D5 =5 D5 GND (20 o0 72 N B P e T T
D6 = D6 REGH# o cni-12 ' 0.1u 2012type
07 =8 07 cseLy 32 seof Tz P T R CEEE A,
. €L g0 Cal-3 " UWTLV1O1NCR1GS 100u 35V
A0 = 10 19 AO o 34 5 ”””” : ”””””” : ”””””””””””””
AL = AL et - > R1-8 | |10k 2012type
1 A s = R8sk 002tpe
A2 = 4 18w ; w
A3 = 12 13 RO-12 ' 680 2012type
A4 = Y e #7777 N R B P I I I
14 15 | ‘
A5 = A5 R13,14 | | 120 2012type
A6 = Bwe e R CEEEEE
A7 = A7 Ica | 74HC32AF
| == 1548 o Tz R e
A9 = A9 o ic4 | 74HCOTAF
mo | =19 AL0 oS\ e Fee e T
0 Ics ' TK11133CSCL
124 11 34 o 8 Z Pt e
. _ 34 13'7 10RD# e Coow L 2012type |
J IC6 ' MAXIN ' NAXBO4ESA
csor | = 27 o OE# CONL
0 ‘oooooooooooooooooooo‘ 16 6D
53 .. - 00000000000000000000
IR —
28 'o 10WR#
CS1# =
39 o
vVee = 1 5
Ve = 40 oo 14~ CEL# +12V
- - +12V
GND = s 3 [ 4 coNz(40pin) . s 2
GND = > +12V = 34 Cal 5 e Cm3 8 1
= v = CA A o T 3
WAITH | = 26 6 7| WAIT# 37T T 82|, %Z a2 7] 8|2 Ol
~ GND = 36 28 Hi Sz
2 1 6|2= (3
GND = cnL,2 8=
RESET | = 3 RESET = el = Iy =
IRQOY | = IREQ# " =
vee = 3 ca3
vee = ol
an
GND = ST cm
GND = +12V
L CON3(9pin)
}Rl’z 1C1 - g —
R9 =
# e  3e F
O | = 26 4 1> 6 7 -
USERD | = gg 3 L( RI3 = RI10 5 ==
RXDO | = 1 FROp
3.3V 3.3V 3.3v BRI -
8 8 L |14 9 e |14 o 12V conaapin)
pl ] wl s Jug ¢ a7 i
e | & | o7 g & 3 cr8 L 8 cno - 102 T 2 -
=t B 8z 8% (71 3% 71 o1 | = 555 4|1 ! 31—
= = = = —
USERL | = o 3 H R14 = R12 5 ==
ROL | = 1 FR2T
REZ 2 = =




